javal 0:0 0000 O0RMEO O OOOOJavald O O O PDFO
J0odoooooooooooon
https.//www.100test.com/kao_ti2020/594/2021 2022 java E8 AE_
A4 E8 AF 81 clo4 bo47i5.htmI0 000000 onooO
Jododoboooooodobooouooouoooooa
Jododobooodoodooooooouoooooa
Jo0odooooooodoooouoooooooooa
OJO0O0O0OoOCPUOOOAVADOOODOOOOOJVMOOO
J0odoboooooodoooooooooooooa
OO0O0OO0JAVAO OO OOOoDOooooooooooooo
JO000o00o0oo0oodooooooooooooon
Jo0o0dooooo.Oo0oooooooooooooog
JododoboooooooogoocPuooooood
Jododoboooooodoooo gl AvAD Oooood
Jododobooodoodooooooouoooooa
Jo0odooooooodoooouoooooooooa
OO0O00O0O0@OHTTPOOO Internet] O O O)O UIO O O
JouliDoodoooooooooooooooooon
JulioDooodoooooookl2MEDOKVMO OO O OoGOo
OJO0O00O00DOO0APIDOOOOOOOXZMEDODOOOO
JO0o00o0ok2MED 00000000 ooooooon
[ O 0O O Thread (java.lang.Thread) U 0O O O 0O O O O

O ThreaedO OO O Thread OO run()UD O OO O0OO0OOOO
Jo0o0dobodooododdwn0dooooooo
OJO0O000000000000 OO0 public class ThreadSimple
extends Thread{ public ThreadSimple() {//constructor } public void



run() {//runcodeentity } }) U OO0 O0O00OO0OONO
OstartQ)U O O O 0O 0O O OO new ThreadSimple() O start().OI O
Ostart O OO OOOOOOOrun0ODODOO O O startld O
Jododododododooodooodooodo
Jododododododooooooodooodo
O OJAVAL O Thread O O O Runnabled O O O O rund O O
OO00OO0O0OO0Runnabled0 DO O0OO0O0O OOOOMO

[ Runnablel] OO OO O O (java.lang.Runnable) 0O UJ [ OO Runnable
DO00000000wnO00O00OORunnabled 0D O0OO0OOO
Jododododododouooooodouoodo
Jo00o0dodooododThreadD OO OO OO0OOMO
OO00O0OstartU 000000000 OO public class
RunnablSimple implements Runnable{ public RunnableSimple() {
//constructor } public void run(){ //run codeentity } } 0O 0O 0O O O
0 0O 0 0O O RunnableSimple rs = new RunnableSimple(). new
Thread(rs).start). U O U O OO UOOOOOOOOO Thread
OstartU 000000 ooooooooooonod
OThreadd DO OOOThreedD D OO OO OOOOOOMO
0 J2MED O O O 0O O O O O void setPriority(int newPriority) ]
Jododododododouooooodouoodo
DJo00d0o0d0ododododododod statc void
sleep(longmillis) OO0 D000 0U0O0O0O0OOO0OOONO
JodododouououotudtmilisOOOOO
voidstartQU D U OO0 dododdvoidrun) OO OO0
OO0 voidjoin)U U O OO OO OO boolean isAlive() O [
OO0000000Alved OO staticvoid yield() U O O O O O



JO00000oooooooooooon okMeEd O
OOOJAVAUOUOOUOOUOOUOOOOOOO Timer
OTimerTaskO U OO ODODOODOODOODOOOOOOOOO
D000 TimerDJAVAOD U OOUOOOOOoooooood
Jododobodoooouoooooooooon

[1 schedule(TimerTask ttl1 long millis) [ schedule(TimerTask tt

[ long startl] long off)J TimerTaskO U OO0 OO0 O00OOOO
DO00000rwnUd 00000000 OO publicclass
TimerTasks extends TimerTask{ public TimerTaskS(){
//constructor } public void run(){ //run codeentity } } 0O OO 0O OO O
Timer timer = new Timer(). /30 0O 0O 0O O 0O [
timer.schedule(new TimerTaskS()[J 3000). /30 U 0O O 0O O 0O O
OOo0O0Os5000000 timer.schedule(new TimerTaskS()
[13000005000). 000000000000 Oo0OoODOoOn
JO0o0dooooooodooooUTmer D OOO

O TimerTaskO DO O OscheduleD DO OO OO0 O0OOOO
Jo00000000OcancellODOOOOOOOOOn
ORZ2MEO 0 0000000000000 0000O0000
J0o0doo0oooodoooooooooooooa
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
JO0o0dobodoodoododnd publicvoid
commandAction(Command c, Displayable s) { if(c==do1Com){ //
OO0000000 new Thread(new RunnableSimple()).start(). }
else if(c==do2Com){//00 OO O OO ThreadJ 1 new
ThreadSimple().start(). }else{ /0 0 O O O O new



Timer().schedule(new TimerTaskS(),3000,20). }}y 0 OO0 o
Jodododoobooboobodjjpavabd0odooon

100Test U D000 ddd
www.100test.com



